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1 TiF Bk 39 44 83 120 | 71.0 |BGENP
2 BHA i 44 44 88 144 | 73.6
3 &= 48 44 92 176 | 744
4 A IEGE 38 45 83 8.0 75.0
5 falEf X 43 48 91 16.0 | 75.0
6 fmh &8 44 44 88 120 | 76.0
7 Tik BB 43 50 93 16.8 | 76.2
8 X¥F =F 46 48 94 168 | 77.2
9 na #wE 40 46 86 8.8 77.2
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12 fr] &R 1IE— 40 45 85 7.2 77.8 NP
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22 FIE SfF 43 56 99 176 | 814
23 ik FAE 48 53 101 | 184 | 826
24 BiE KX A7 55 102 | 192 | 828
25 MR FF 47 57 104 | 192 | 8438
26 IR F=— 50 59 109 | 240 | 850
27 Tk £4 53 47 100 | 144 | 856
28 Tk 1ER 44 52 96 9.6 86.4 NP
29 ik RIE 49 57 106 | 184 | 876
30 BE BE 49 54 103 | 136 | 894




